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Oursilqnt;
a)Solve the following 'litrtttntid uqulfio\

b) Solve thg tnruat varun Prv,rw'' "J "-'--F - I

yo *2Y' - Y =e" -.e' 
. ; q(o) = 1' Y'(o) = l

c)Find the center of the mass of a thin plate bounded by the parabola ! = 6x - xz

! = 6x* x' and the straight line ! = x, given that the density as p(x'y) = I

d) Evaluate the following integrals:

D l f l  2?,e-* 'dydx&'  whereD is,Sivenby D:0 3y3x'  03xsl  '  lsz34

D

a ? 2
; ; l  

| j  G. l ) . , *1)  
dxdy whereD isg ivenby D:03x3"1 '  05y<4

[[o$on!
a) Find the Laplace transform of the functions:

(50 marls)

i[(t) = (l + e2t)2sin2t cos2t ir) f(t) =.-t t sin2t + cos2t

... dv 3x + 2Y
ii) ;: 

=;;;-;;1
dx 3x+2Y+2or i(zlnx + 1)

__:-=
dx sinY + Ycosy

_ - (dv) (U)'=o
iv) y-r-[*J-[o.tiii) cos2 * ,in*fr +(cos3 x)Y= 1

vi) x2 
# 

- 2-* - 2oY = (x+ 1)2
"l tuff . zD - 3)Y =e2* coshx

LaPlace transform:



b) Find the invers. Luplu.u transform of the functions:

i )F(s)=ht; 1? i i )F(s)=-zs, '- l , : ;z ir i )  F(s)=-- i ;1 -=s'+l  '  \ '  s(s+l)z 
tr-#Xr-. [)

c) Find Z-'{f(s)} by using the Convolution theorem:

F(s)=.-+-+- ' /  
(s+1)(s+2)

d) Test the convergence of the following series:

. ,  , . - ,42 ' -n-3
l ) ) - -'  L ' t  n '+2n

r,) i F',)'4' f r  n '+7

e) Find the interval of convergence t:!f-!:L/ 2n (32 - l)

0 Draw the periodic function and then find its Laptace transform

f( t )=et  o<t  <2n

WltL mg beetutshes Dr,.hg.nf*aVanud
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